1. Join the phrases in A with the correct answer in B.

A B

1. He was handsome, good-looking and genrous a. Alan Trevor

2. She is a daughter of a retired colonel. b. Melton

3. He was a painter. c. Hughie

4. He was one of the richest men in Eurpoe d. Laura

5. He requested Hughie to get 10,000 pounds. e. Baron Hausberg
2. Drag the words and drop them in the correct place.

Laura  unemployed painter 200 envelope  allittle
Sovereign wealthy fascinating practical  income

1. Unless one is there is no use in being a charming fellow.

2. Romance is the privilege of the rich, not the profession of the

3. The poor should be and prosaic.
4. It is better to have a permanent than to be 5.
6. He lived with pounds a year from his old aunt.

7. Allan Trevor was a

8. He wanted to get married with Merton.
9. Hughie gave the beggar a when he met him with Alan Trevor.
10. He gave him that money because Alan pays to the beggar.

11. The next morning, Baron Hausberg sent his servant with an

that contains 10,000 dollars.
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